B HORI ()

DA & AR 3 DRFER D g (e & B FR W)
LI ES Bl R s R T[] S B AR R
MR A B B RES  SFn44EE ) « HF3HEEE ) (Ci s B - I I I
M| ) i | EREE] | IR | AR | e | ERER | HSEE] | SR | KRR | R R
Ml A % % M M % % M F THITH TH
FLIRTE | 10] 6] 8.63 —| 17,200] 29,770] 8.83 —| 17,380| 31,1400 L |—| 1| | ] 650] 630 20
meg ek 10] 5] 10.28 —| 24, 550] 22,610] 10.19 —| 24, 120] 23, 150] 7|—| 7| 1] 650] 630 20
/T [EH 10 6] 9.20 —| 21,960] 23,280] 9.50 —| 20, 160] 21, 240] L || 7| T] 650] 630 20
Bl [BH 10l 6] 8.33 —| 26, 530] 27,240 8.37 —| 25, 620] 26,640] L |—| 7| 1] 650] 630 20
EpT £ 10| 5] 8.40 —| 20, 220] 26, 290] 8. 40 —| 20, 220] 26, 290]—|—|—|—] 650| 630 20
#igh [EH 10l 6] 8.73 —| 25, 300] 18,400] 9.20 —| 25, 400] 18, 400] | |—| | |—] 650] 630 20
#IAT [#BH 10| 6]  7.41 —| 26,010{ 25,800] 7.54 —| 25,620| 24,850 L |—| 1| 1] 650] 630 20
bR ek 10| 3] 6.90 —| 26, 300] 21,200] 7.30 —| 26, 600] 21, 200} | |—| | |—] 650] 630 20
AuEr BH 8] 6]  5.90 —| 18, 400| 16,100] 5. 40 —| 14, 600] 10,600] 7|—| 7| 7] 650] 630 20
A RAR e 8| 6] 8. 34 —| 26, 950| 27,420] 8.44 —| 27,390] 28,890) | ||| |l] 650] 630 20
faEm £ 8l 6] 6.30 —| 27,500{ 24,000] 6.30 —| 27,500| 24, 000]—|—|—|—] 650| 630 20
st 8| 8| 4] 9.50| 28.00| 22,000f 25,0000 9.50| 28.00| 22,000| 25, 000}—|—|—|—] 650| 630 20
N B0 6] 7.88 —| 16, 700| 29,900 7.88 —| 16, 700| 29, 900}—|—|—|—] 630] 610 20
Heputhi [Bi] 8| 6] 7.30]  0.00| 23,000{ 34,074 7.00] 10.00[ 21,000| 34,966) 7| .| 1| .| 650| 630 20
2£EH (8] 8] 6]  8.90 —| 28, 500] 22,500] 8.90 —| 28, 500] 22, 500}—|—|—|—] 650| 630 20
ARl (8] 8| 6] 5. 74 —| 18, 600| 19,600] 5.74 —| 18, 600] 19, 600}—|—|—|—] 650| 630 20
rHl (B0l 3] 8.30 —| 24, 000| 25,500] 8.30 —| 24, 000| 25, 500]—|—|—|—] 630] 630 0
AR IR 8| 7] 7.58 —| 20, 600] 17,600] 7.89 —| 19,700] 15,000 L |—| 1| 1] 650] 630 20
el (8] 9] 6]  6.89 —| 26, 100| 25,700 6.89 —| 26, 100| 25, 700}—|—|—|—}] 650| 630 20
+pi (8] 8| 6]  8.27 —| 27, 000] 27,000] 8.40 —| 28, 000[ 28,000f L |—| L] !] 650[ 630 20
&% (B 11| 6] 7.40] 20.00| 21, 000f 18,000 7.40| 20.00| 21, 000| 18, 000}—|—|—|—] 650| 630 20
=47 [BH 8| 6] 8.24| 28.00| 15,200f 19,200] 8.24| 28.00| 15,200 19, 200}—|—|—|—] 650| 630 20
= B 9 6] 9.70 —| 25, 500] 27,600 9.07 —| 25, 500] 27, 600} T |—=|—|—] 630[ 630 0
Fiskrfi [BH 9| 5] 8.26 —| 21, 800] 23,400 8.18 —| 21, 600] 23,200f 1T |—| 1| 1] 650[ 630 20
) (B 8 3] 9.10 —| 23, 100] 23,100] 9.10 —| 23, 100| 23, 100}—|—|—|—] 650[ 630 20
W |BL| e 6] 8.50 —| 19,900| 18,300] 8.50 —| 19, 900| 18, 300}—|—|—|—} 650[ 630 20
WENTBL 8] 5] 8.30 —| 15,700f 17,300] 8.30 —| 15, 700{ 17, 300]—|—|—|—] 650 630 20
W |BL| 8| 6]  8.40 —| 25, 000] 27,000] 8.40 —| 25, 000] 27, 000}—|—|—|—}] 630[ 630 0
R R 8| 6] 8.78 —| 24, 300] 21,300] 8.78 —| 24, 300 21, 300}—|—|—|—] 650[ 630 20
BRI [Bi]10] 3] 8.40 —| 23, 000] 25,000] 8.90 —| 28, 000[ 27,000f L |—| L | || 650[ 630 20
EpE (810l 3] 9.38 —| 26,800] 25,900 9.38 —| 26, 800 25, 900}—|—|—|—} 630[ 630 0
gz |Bi|1of12]  8.50]  7.30[ 25,000] 30,000f 8.50[ 7.30| 25,000| 30,000|—|—|—|—] 650| 630 20
b=k B8] 9| 5] 9.30] 26.00] 23,800[ 29, 100] 9.30| 26.00| 23,800 29, 100}—|—|—|—] 650| 630 20
b= B #L10f 3] 7.68 —| 22, 600] 25,600 7.68 —| 22, 600 25, 600}—|—|—|—] 630[ 630 0
L¥er |#Bi]1ol 3] 8.63 —| 23,200] 33,700] 8.63 —| 23, 200 33, 700]—|—|—|—] 630 630 0
o 8.21| 18.22] 22,952 24,385] 8.24| 19.88| 22,855| 24,253 L[| 1| 1] 646 629 17
4JE 3 5
G| [FR %R
UP 22 6501 28
DOWN 8 630 H 7
EHEIRL 5
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Ml M = RIS M =% Ml k| o #%
FLigdi a9 83,606 —1.70] (18) 60,259 -0.55|(18) 60,259 -0.55| (1) 14,090  18.57[ (16 510,748| 3.60| 128.3
EAET | (20) 82,410 -4.28[ (19) 59,623 —2.90| (19) 59,623 —-2.90| — 0 —| e 403,872| -4.49| 101.4
AT |29 68,211 5.20] (29) 49,067| 6.25|(29)  49,067| 6.24] (3) 0| -100.00| (28) 398,100| 20.13|  100.0
M | @2) 81,958 -0.31](23) 57,303 1.09] (23) 57,304 1.09| (2) 7,411 -82.91 (24 409,072 -1.12| 102.8
=i | @8 69,367 -1.10] (28) 51,944 0.03] (28) 51,944 0.03] — 0 - @y 381,890 4.69 95.9
gigg | e 74,368 —5. 25| (26) 54,561 —1.93] (26) 54,561 -1.93| — 0 —| @5 408,834 0.64| 102.7
R |as)y 95,878 0.02] (12) 65,770| 1.27|(12)  65,770| 1.27| — 0 - ® 695,398 8.02| 174.7
bRt Jay 97,122 -2.43] (14) 65,230| -0.97| (14)  65,230| -0.97| — 0 - o 835, 797| 25.09  209.9
AegE | (B0)  67,747| 18.45((32) 45,909| 21.96|(32)  45,909| 21.96| — 0 —| o 586,381| 16.39| 147.3
SRR a5 95,575 -3.92| (16) 63,795| -2.78|(16)  63,795| -2.78| — 0 - a 565,578 1.15| 142.1
el | @ 131,577 1.39] ® 82,061| 2.42[ (3 82,061 2.42| — 0 - @ 1,512,255| 27.99  379.9
Bt | o 77,894] -3.18| (21) 57,419 -2. 11| (21) 57,419 -2.11| — 0 —| <2 367,906| -1.01 92.4
W | (26) 76, 845 —2.95] (27) 53,707 -1.81] (27 53,707 -1.81| — 0 —| @2 446,044 -1.04| 112.0
Hei | ) 110,827 0.05] (6) 74,400 2.16| (6) 74,400 2.16] — 0 - ® 1,266,928| 33.32| 318.2
EMIEAT |10 98,495 —6.40] (9) 67,999| -4.54| (9 67,999 -4.54| — 0 - a3 570,552 -7.39| 143.3
FERldi |63 51,010 -7.98] (33) 37,502 —6.93] (33) 37,502 -6.93 — 0 - ©3 352, 835| -11. 87 88. 6
LRt an 89,401 -0.50] (20) 59,036 0.37] (20) 59,036 0.37] — 0 - as® 500,922| 7.46| 125.8
HREH |Gy 46,007 5. 73] (34) 35,538 —4.77] (34) 35,538 -4.77| — 0 —| @5 250, 259| 6. 67 62.9
gald | @ 123,461 7.55] (2 84,549| 10.67| (2) 84,549 10.67| — 0 - 1,691,066| 64.32| 424.8
+RIdi | &) 119,129 -5.42] (5) 77,888| -3.31| (5 77,888 -3.31| — 0 - ® 837,538 -1.20 210.4
£75H | (8 104,939 -0.98| (1) 70,706 1.18] (D 70,706| 1.18| — 0 - 678,695 1.14] 170.5
Zadi 6D 66,259 —0.35] (30) 48,714| 1.00|(30)  48,714| 1.00| — 0 —| @) 407,636 5.49| 102.4
Esfi | ) 149,749 5.49| (D 85,970 7.71| (1) 85,970 7.71| — 0 - ® 850,330 12.80| 213.6
Fredi | a8) 88,936 -1.43] (D) 62,919| 0.31| (7  62,919] 0.31] — 0 —| as 543,535| -0.63| 136.5
w)H | @3) 81,865 —7.22](24) 56, 639 -6. 78| (24) 56,639 —6.78| — 0 - @3 427,359|-10. 22|  107.3
Wi |32 65,401 —4.77| 31 47,341 -4.02| (31)  47,341| -4.02| — 0 —| @9 384,939 3.75 96.7
HAEPTT | (35) 44, 251(-11. 47| (35) 34,676 —8.91] (35) 34,676 -8.91| — 0 - 6o 263,897| -2.04 66. 3
Wi | @ 106, 323[-11.13] ®) 69, 985(-10. 47| (8) 69, 985[-10.47| — 0 - av 585, 413|-22. 71|  147.1
R | ) 129,321 1.07] (@ 78,990 2.40] (@ 78,990 2.40| — 0 - @ 968, 568| 19.40| 243.3
L= E NE5)) 76, 968[ -11. 94| (25) 55, 297(-10. 47| (25) 55,297 -10. 47| — 0 - ©o 382, 752| -1.66 96. 1
EEd | @ 99, 935| -2. 28| (10) 67,522 -0.97| (1t0) 67,522 -0.97| — 0 - an 504, 630| 0.99| 126.8
i | 95,673 —4. 74| 1) 66,441 -3.14|(11) 66,441 -3.14| — 0 - a2 576,711 3.95| 144.9
dbspii a2 96,360 —6.54] (13) 65,655 -4.17| (13) 65,655 -4.17| — 0 —| @b 457,688 -4.60| 115.0
bk ET e 82,014 —2.11] (22) 57,306| -0.37| (22) 57,306 —0.37| — 0 —| o 464,983 0.43| 116.8
Fxpdi | ae) 93,917 —2.07] (15) 64,018 0.15/(15) 64,018 0.15 — 0 - a9 488,204 5.67| 122.6
o 89,223 -2.14 -100 61,021 -0.67 614 -97.14 599,352| 8.80




EEMIT ORI (&)

AR AESE LT 3 EE OB g (T & W 7R F)
Bl =S Bt =S AT | & | 2| | IRERPREE
H i ( BF04AFRE ) € S 3FHE D | PE| | ] 4 3|51 k%E
FTSE | B | BEE | AR | TR | ERER | BEE | AR R | AR | AR
% % M M % % M M TA [T TH
KL 2.93 —| 5,760 9,960] 2.94 —| 5,710 10,2200 L |—= |1 |l | 200[ 190 10
B T 3.21 —| 7,650 7,040] 3.19 —| 7,500 7,190|7 (=T |L | 200] 190 10
NN 3.00 —| 7,200 7,440] 3.20 —| 6,600 6,9600) [~ T |1 | 200 190 10
B T 2. 66 —| 8,430 8,660] 2.73 —| 8,420] 8,750} |—= |1 |l | 200[ 190 10
EHT 2.90 —| 12,8201 0.00] 2.90 —| 12,820 —l=1—1=1L | 200 190 10
BilpE T 2. 86 —| 8,100 6,000] 3.06 —| s,200] 6,000]! [—|] [~=] 200 190 10
HE LT 2. 56 —| 8,690 8,620 2.63 —| 8,610] 83400 |—= |1 |1 | 200[ 190 10
[zl 2. 50 —| 9,100 6,700] 2.50 —| 9,100 6,700— [—|—|—] 200] 190 10
A BT 2.23 —| 6,300 5,500] 2.20 —| 5,300 4,00007 [—=|T |1 ]| 200 190 10
R 2. 49 —| 8,190 8,330 2. 46 —| 8,160 8,610 (=T |L | 200 190 10
L En] 2. 20 —| 9,500 7,500] 2.20 —| 9,500| 7,500|— |—|—|—| 200[ 190 10
Bt 2.50] 7.00] 6,000 7,000] 2.50] 7.00] 6,000 7,000}— [—|—|—| 200[ 190 10
/N 2.81 —| 8,600] 6,600] 2.81 —| 8,600 6,6001— [—|—|—] 190] 190 0
HEN T 2.40] 0.00[ 7,000 9,051] 2.30[ 1.00] 6,500[ 9,006)T |L |1 [T ] 200 190 10
FEMR T 3.20 —| 9,000 7,000] 3.20 —| 9,000 7,0000— [—=|—|—] 200] 190 10
Al 2.37 —| 7,800] 8,200 2.37 —| 7,800] 8,200]— = |—[—] 200 190 10
NG 1.70 —| 5,300 6,000] 1.70 —| 5,300| 6,0000—|—|—|—| 19| 190 0
R 3.00 —| 7,800 6,500 3.31 —| 7,800 5,800, [>T ]| 200 190 10
N 2.47 —| 8,800 8,700] 2.47 —| 8,800| 8,700]—|—|—|—| 200[ 190 10
=y I i] 2. 58 —| 8,000 8,000 2.80 —| 9,000] 7,0000, ||l |1 | 200[ 190 10
& Fh 3.00] 9.00[ 10,000 8,000] 3.00[ 9.00] 10,000 8,000]— |—|—[—] 200 190 10
=R 2.06| 7.00] 3,800 4,800] 2.06| 7.00] 3,800 4,800]—|—|—[—] 200 190 10
e 2.95 —| 8,300 9,000] 2.95 —| 8,300] 9,000|—|—|—|—| 19| 190 0
Tk 2. 87 —| 7,400] 8,000] 2.74 —| 7,100] 7,700} 7 |—= |1 |1 | 200[ 190 10
ClIng] 2. 80 —| 6,600 6,600] 2.80 —| 6,600 6,6001— [—|—|—] 200] 190 10
Lt 3.00 —| 5,900] 6,500] 3.00 —| 5,900| 6,5000—|—|—|—| 200[ 190 10
WAENT 2. 20 —| 4,300] 4,700 2.20 —| 4,300] 4,700]—= = |—|—| 200[ 190 10
N 3.20 —| 10, 000] 12,000] 3.20 —| 10,000 12,000— |— [= |—| 190 190 0
& R 2.90 —| 8,300 7,300] 2.90 —| 8,300 7,3000— [—|—|—] 200] 190 10
BB 2.70 —| 7,600 7,300] 2.90 —| 8,200] 7,900}, |—=|L |l | 200[ 190 10
ERET 2.95 —| 8,600 8, 100] 2.95 —| 8,600 8,100— [—|—|—]| 190] 190 0
i 2.00] 2.30] 6,000 7,000] 2.00[ 2.30] 6,000[ 7,000]— |—|—[—] 200 190 10
Je=pmi 2.40( 7.00] 6,200 7,600Q 2.40( 7.00| 6,200] 7,600— [—|—|—| 200| 190 10
LR T 2.58 —| 6,700 9,100 2.58 —| 6,700] 9,100]—= |—=|—|—| 190 190 0
AAFT 2.16 —| 6,000 8,400] 2.16 —| 6,000 8,400|— [—|—|—]| 190] 190 0
o 2.64| 5.38] 7,593 7,349 2.67| 5.55 7,563 7,479l |l |1 [ ] 198 190 8
£ 3 51fih
[EHE] | (HE9EE)
up 6 200F-H 28
DOWN 24 190F-H 7
EHELL 5
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470 PON-IEeS S ) KRR SN ) KRR SN ) KRR
A =R M| =R M| == I ==
FLRHT | (15) 27,995|  0.21] (14) 20, 178|  1.39] (14) 20, 178|  1.39] (1) 4,710 20.83
HEET | (19) 25,673 —4.08| (18) 18,574| —2.70( (18) 18,574 -2.70| — 0 —
T | (28) 22,025|  2.10] (29) 15,843 3.11] (29 15,843  3.10| (3) 0| #tHH#H
) | as) 26,046 —2.62| (19) 18,211 -1.25]| (19) 18,211 -1.25| (2) 2,274 -83.99
= | ©@6) 23,610 -1.37] (20) 17,680 —0.24]| (20) 17,680 -0.24| — 0 —
giggri | (23) 24,063| —6.07] (21) 17,655 —2.78] (21) 17,655 -2.78[ — 0 —
HaT | an 31,967| -0.38| (11) 21,928| 0.86[ (1) 21,928| 0.86[ — 0 —
S[AZNI i M) 32,978  0.06] (10) 22,149 1.56] (10) 22,149 1.56| — 0 —
A | (25) 23,665| 10.20] (27) 16,037 13.46] 27) 16,037 13.46[ — 0 —
ARG () 28,847| -1.87]| (15) 19, 255| -0.70| (15) 19, 255 -0.70| — 0 —
HEm | @ 43,332 1.81| @ 27,025 2.84| (4) 27,025 2.84| — 0 —
o | (30) 21,073 -2. 79| 30) 15,534 —1. 71| (30) 15,534 -1.71| — 0 —
wNBCT | (16) 27,067 -3.34| (16) 18,917| -2.21| (16) 18,917 -2.21| — 0 —
i E)) 34,161 2.10| (® 22,933|  4.26] (8 22,933|  4.26| — 0 —
ESUEN I KEL0) 32,637 -5.32| (9) 22,532| —3.44| (9) 22,532 -3.44| — 0 —
FRlm | 6D 20,901| —6.62] (31) 15,366 -5.56] (31) 15,366 -5.56[ — 0 —
LRl |32 19,623 -0. 09| (33) 12,958 0.78] (33) 12,958 0.78] — 0 —
O T KER)) 17, 514| —10. 07| (32) 13,529 -9.16]| (32) 13,529 -9.16[ — 0 —
SGINTE N6 41,288| 5.39| (1) 28,275|  8.45| (1) 28,275|  8.45| — 0 —
mw: i GO 36, 435| —7.23| (D) 23,822| -5.16| (7) 23,822 -5.16] — 0 —
far | @ 41,585 —0.77| (2 28,019 1.39| 2 28,019| 1.39| — 0 —
=R [ET) 16,813 —0.91| (34) 12,361 0.43] (34) 12,361 0.43[ — 0 —
RER | @ 47,820|  5.21] (3) 27,453  7.44| (3) 27,453  7.44| — 0 —
Fuki |(13)  30,311| 1.85|(12) 21,444  3.64| (12) 21,444  3.64| — 0 —
) | @y 24, 462 —7.15| (24) 16,925 6. 71| (24) 16,925 6. 71 — 0 —
Wt | ©9) 21,984 —4.77| (28) 15,913 —4.02| (28) 15,913 -4.02[ — 0 —
AENTH | (35) 11, 853| —11. 40] (35) 9,288 -8.84| (35) 9,288 -8.84| — 0 —
W) | ) 39,967| -8.70| (5 26, 307| -8.01| (5) 26,307| -8.01| — 0 —
BREH | ) 42,102 1.32| 6 25,716  2.65| (6) 25,716|  2.65| — 0 —
BT | (22) 24, 426 -9.58| (22) 17,548 -8.08]| (22) 17,548 -8.08 — 0 —
MEm |2 31,409| -2.30] (13) 21, 222| —0.98] (13) 21,222 -0.98| — 0 —
rEEi | @1 23,359 -4.76| (26) 16, 222 -3.16] (26) 16,222 -3.16[ — 0 —
de=kifi | o) 25,477 -6. 42| (23) 17,358 —4.06( (23) 17,358 -4.06| — 0 —
AR BT | () 26,806| —2.11| (17) 18,730 -0.37| (17) 18,730| -0.37| — 0 —
fAFETHT |24 24,010 —2.07| (25) 16,366 0. 15| (25) 16,366 0.15[ — 0 —
N 28, 380| —2.01 19, 408| —0.54 19,408 -0.54 200( -97. 16




EEH ORI (ri#m)

B4 EE & AN 3 AR DBFER O HLig (e & MR 3R )
£l =S s =3 AT | & | 7| 2 |RER PR AR
e C SF04FERE ) € =Fn 3R ) %] 4 | 3 |51 %R
FTAFE] | G ES | B8 | B | sl [ G s | B d [ asg Rl R
% % M M % % M M THITH TH
AL 2. 44 —| 5,310| 7,270] 2.35 —| 5,210 7,140)7 [ |1 |7 | 170 170 0
B T 2.89 —| 7,890| 5,630] 2.58 —| 7,530 5,550T |—= |7 |71 |170[ 170 0
AN AT 2. 70 —| 7,080| 5,760] 2.60 —| 6,240 4,920 1 [—] 1| 1] 170| 170 0
BT 2.18 —| 8,410| 6,460 2.21 —| 8,220] 6,360} L [— |1 |T |170] 170 0
EpTh 2. 60 —|[ 11, 240 0| 2.80 —|[ 13,270 —L =l | |170] 170 0
P 2.24 —| 7,500| 4,100] 2.30 —| 7,500] 4,100} [—=|— |~ | 170 170 0
W AT 1.74 —| 9,600] 6,910] 1.86 —1 9,420| 6,520} 0 |— |7 |1 | 170[ 170 0
Bl 1.80 —] 9,000| 6,000] 1.80 —1 9,000| 6,000]— |— |—|—|] 170[ 170 0
A AETH 1.62 —| 6,300| 4,200] 1.50 —| 5,200 2,907 [—= |1 |7 |170| 170 0
5 RIR TR 1.79 —| 8,140| 6,320 1.77 —| 8,090 6,30017 [= |1 |7 |170| 170 0
Mt 1.70 —112,000| 6,000] 1.70 —112, 000 6,000]— |— |— |— ] 170[ 170 0
WA 2.00| 6.00[ 6,000] 7,000] 2.00| 6.00| 6,000 7,000]— (= |—|—]170] 170 0
i NEC 2.23 —| 6,800 6,400] 2.23 —| 6,800] 6,400]— |- |— || 170] 160 10
e 1.20 —| 7,500| 4,000] 1.20 —| 7,500 —l—= 1= |-l | 170] 170 0
FEH 2. 00 —| 9,700| 5,500] 2.00 —| 9,700] 5,500]— |- |— |~ | 170 170 0
Rl 1.63 —| 7,400| 5,700] 1.63 —| 7,400 5, 700> |- |— || 170 170 0
alin 1. 80 —| 9,600 ol 1.80 —| 9,600 —I= 1= |— 1! | 160] 160 0
AR 2.81 —| 9,800| 4,100] 3.29 —[10,500| 2,9000! [— |l |1 | 170] 170 0
Gl 1.65 —| 9,400| 6,500] 1.65 —1 9,400| 6,500]— |— |— [—] 170] 170 0
+-Rih 1.97 —| 8,000 7,000] 2.20 —{10,000| 50000 |[— ! |T | 170f 170 0
il 2.40| 4.00[10,000] 8,000 2.40| 4.00]10,000[ 8, 000]—|—|—|—] 170] 170 0
=& 0.43| 5.20(10,300| 5,900 0.43| 5.20(10,300| 5 900]—|—|—|—] 170] 170 0
R 1. 90 —| 11,600 6,400] 1.90 —|[11,600]| 6,400 —|—|—|—] 170| 170 0
Tk 2.10 —| 8,300| 5,900] 2.20 —| 8,600 6,2000 L |[—]| || !]170] 170 0
)T 2.30 —| 12, 000 ol 2.30 —| 12, 000 —|—=1—|—]| | 170] 170 0
RO 2. 50 —| 7,000| 5,000] 2.50 —| 7,000| 5, 000]—|—|—|—]| 170| 170 0
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